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1. � F ´A��"��, y²e�Ý
Ø�q:

(i)

(
1 1

1 2

)
∼s

(
1 2

0 3

)
;

(ii)


0 2 1

0 1 0

3 0 0

 ∼s


1 0 0

0 0 2

0 3 1

 .

2. O�Ý
 T ∈ GL2(R), ¦� T−1

(
0 1

0 0

)
T =

(
0 0

1 0

)
.

3. � V ´� F þ��5�m, ~ν1, ~ν2, ~ν3 ´ V ��|Ä. � σ ´þ��5�f§÷v

σ(~ν1) = ~ν1, σ(~ν2) = ~ν1 + ~ν2, σ(~ν1) = ~ν1 + ~ν2 + ~ν3.

(i) y²: σ ´�_�5�f;

(ii) ¦ 2σ − σ−1 3Ä ~ν1, ~ν2, ~ν3 e�Ý
.

4. � A ´� F þ� n ��
, E ´� F þ� n �ü 
, � A2 = 2A+ 3E.

y²: rank(A+ E) + rank(A− 3E) = n.

5. RHu-Ä:�ê£1�ò¤156�µ5, 6, 7.

5µ6, 7 K�±^15 K�(Øy².
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